| Tss, Ry
@ + m@ %%7% AE ~2016012%

Ve = 634 +Q77)ic‘(;' :>IQQ' B+ R, :WZ‘O}QO%/ URZ=4OO'@; 909=390 9"

/A
100 _
U =390,9V
r——k UG\Q(_{_} —__‘Q C{((y 0}3 ’_’%
| s c, Re  Ahey (¢)= He /) e

T=R1'C,, =1c0 '40‘3: 100 ms .

_ 803
Uey (1, )= Ucq(0) 0" 01 =673 V.
266 (t40)= UM{ Ueq (&)

; 7.
Lgg (t,+0)=10 =643 5,5,

o T/ T
L —19,2 -
!
7000 = 3,6 mA
=42V
U,’ 4 URL'IL qu = URé: U,f 'U_D/': 1'2A0€ = 0)6 V/l
I :Uf’“UD/’ _ /1}2“0 § "
R M T B AR
N oo Y 1IE/I :>IDZ:ID3:IR4 1738 ~06=3,2 m!
-~ aa S e
TN A l/o( =,
@ 2, T A‘Ow)' U’(“ )\ :‘—“—“% '
’_k/_\;}f T ~‘}A'( / '& 7

%; = Rl + _4\ —_ A+d\WqRL

wC '
J 1 chf

N ARWG R, / 4
A= ey = (5 (4 55R) ¢ g o




